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Client ﬁi;'l » T am XXXX.

Server % ¥ : Hi, what can | do for you XXXX?
Client ﬁi;'l » : Hi, how are you?

Server ® ¥ : 1 am fine thank you.

Client ﬁi;'l » : How old are you?

Server % ¥ :1am ten years old.

Client ﬁi;'l » : Where are you?

Server % ¥ :1am located in Taipeli.

Client ﬁi;'l » : How long will you work a day?
Server ¥ ¥ :24 hours a day.

Clientﬁi;]%: HU 2880 F i m@l)» , éu%‘z;@_ﬁﬂ AT o
Server % ¥ :What are you talking about? | cannot understand.
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(1) R PRIF F 2ak ¢ Bl4e hitp://127.0.0.1/test/

Q) PRAx L4 ¢ b4r maximum °
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<wsdl: service name="maximum”>

<soap: address location=""_http://127.0.0.1/test/”>
</wsdl: service>

(2 - BARZPEEIRBLAE F-BRRIYBEFTHE -
<wsdl: message name="maximunOut”>
<wsdl: part type="int">
</wsdl: message>
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<wsdl: message name="maximunin”>
<wsdl: part type="int">
<wsdl: part type="int">
<wsdl: part type="int">
</wsdl: message>

-

>

»
&
o

=D BH0 Y TEEG TED 5O
e e msmEamRg ‘

A R R AR A

R R

BoE R gE |

HOEEE N R

EHEHBETE
= B |

(35%) 2. AAL5 sk ¥ - Aerdy » LT £32 0 FF 3 £F el » o S FHT
i p !
GFEA L L AT

(D PRIMF X h > & /éﬁe%] R G http//xxx/x/ 0 B P ox 5 ¥k
FEFE o
Q4 R Rarw B EFRAE > &2 8~ 5 int, double, string = 48

OEL ISR S S S PRI E AR DR L X N E 3
0~5» 73] f& % int, double, string = F& °

(30%)3. & * FFTERI|E* 42" BRF > Aa2 wip IR~ 2
XML #6378 Fo o i » TR IRGs LRy o 8 R 6 chie iR R
PP FR(ZE XML 5%) o ldefy ~ - maximum > 8 S

e VR PR AR fé’ﬁ—i‘ =4k ¢ http://127.0.0.1/test/

eV PRGF LA ¢ maximum
PREIRIEY B EF AL it



- - GEVRP]
m%&i@&—%’jﬁ@mggigAO
R MALLG RS - Bl
imTﬁjm’mmT»ﬁ_o
3 I FT=fAg XS HET RO DRADY -
A NEHEY ART TR EM DL (R EERET SRR R
£ ) s Il dr s e

ARG A T N N - = )

A - RO A > FE AR R F AEA AR D 0 B
g e R P M@ﬂﬂﬁaﬂ’?vﬁ%

EREHIES AN A B Il A Bk U S R R R &

gt WWW GRE 30 WVWIF TR S * 240 EFRE > 77 p AR F
FRER S 2 il AR 5 o
L(m%?ﬁ%ﬁa&%?ﬁﬂﬁiéiﬂﬁﬁ’EWéiﬁﬁﬁﬁ%ﬁﬂ%ﬂ

PR R T L R

Rl &% RR2 s F3 R EE R4 A
) g R
10 ki 2 % 3 &% 4: 4z
jF = 3 KT w7 #1 Q
Fi-K s = PASS PASS
PASS TR Tt TR P
= fau A 2 e
RN S A s A PASS
Z ¥ A PASS PASS PASS
RERE R B T ihd RER 4D o




o 0~ w

(0%)& - B & - @* FEBRhS 4 r»3Th > BAFRTZAE CH 2ok
N A MR L AR e AR S Rt r B E e ¢ AR
EEST IR T g A - A BB R A AT e
IR R R AR B (9T % R eRRAL) o

(20%) FE by & 75 15 > d ks M Lw (I R

(10%) 5 € B @ TR EEFS A o

(30%) F : HiFih LEHERR 6 -

(10%) 7 5 « W Fespt 2R 8



HPe @ RREHFL FIRE

e OT Yt BB - %ézrﬂf’d*%pmp\*’v%%%’g%:'zﬁ%ﬁﬁ
FIL VI R T L PIR B TG L w*ﬁﬁ%»%éﬁﬁﬂﬁio
A - RIS i

@)?ﬁ%mﬁﬁﬁﬁ&@*ﬁ(Dﬁﬂﬁﬁéiéiﬁwﬁm(3%%
HFAZe fl* pp@EepRrigsy fﬂFR%sEm“ﬁ () £ i@
REw @R (4) ok B 8 F 40 PR el F
(5) BRI T PIRESTY @E'TF bﬁﬁé‘f’lﬁ—?jﬁu"liiﬁi/v\%

530 {8 4 P«lt‘t%{,

(b) PRt ik () MrEFFHRE A6 (2 r A kv HEF
LR RTRRE (2) #iep * "R B2 EF (I) Epaﬁu FEHE 4o
SEFFHREAPEA I RRATRETLREARTR B FIRES Nery T
B3 XL BREFAHA LB R T LB RS P (4)
ik (P FREE TR TR E F)

o4 o=k
A

(A2 L7 e blsip ]
ﬁia?l *> B2 F F LD The iPhone is manufactured by Appel. The Google
gPhone is not a single device, but rather a platform on
which other devices will run.

B
23
e
,\m
O

The iPhone is manufactured by Appel(Appeal, Apple,
Rapple). The Google gPhone is not a single device, but
rather a platform on which other devices will run.

The iPhone is manufactured | by | Apple | Appeal | Rapple | Google

a not single platform but | rather | device | gPhone

which other will run
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